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*Useful Information: Some Results Are Rounded.. CONSIDER (ACCELE
GRAVITY) g=9.38 m/s’

List your final answers in this table using Capi tal Letters
Only the answer in this table will be graded

Question | Q1: | Q2: | Q3: | Q4: | Q5: | Q6: | QT: [ Q8: | Q9: | Q10
Final | ,. !
Answer |

P —

— Ay
. - : £y d N
Q1: For the vectors shown in the figure, express vector S in ferms 0l veclors M and iV.

A) M=S-N
By M+S+N=0
\C) M=N-§

Q2: An airplane undergoes the following displacements: First, it flies 66 km in 2 direction
30° east of north. Next, it flies 49 km due south. Finally, it flies 100 km 30° north of wesL
How far (in km) the airplane ends up from its starting point.

| A) 73 B) 81 C)79 D) 86 E) 93

|A) 115° B) 65° C) 90° D) 25° E) 155°
Q‘L The figure shows the positionofan [ ————————
nb_]?ct as a function of time. What is the ™x (m)
average velocity (in m/s) of the object 1T
d_i:rmgﬂm time interval from time 1 = 3.0 s G
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rest and accelerates with a constant acceleration of 1.00 m/s* for N :
How far (in m) has the car :

| continues for 5.00 s at constant velocity.

B) 19.5 C) 15.0 D) 9.00 E) 25.0

0.00 s, from a point on a roof 70 m above the
rises, then falls and strikes the
m/s) when it

~ Q7:Aball is thrown upward at time 1=
- ground and experiences negligible air resistance. The ball
ground. The initial velocity of the ball is 28 5 m/s. The velocity of the ball (in

R

~ is 39 m above the ground is:

- A4S B) —23 C) 38 D) 45 By =28
": t?"“” e - e e e D e = t

I = _ > ~ ,
~ (8: An object has a position given by r =[2.0m + (5.00 m/s)r]i + [3.0 m - (2.00 m/s2)2)j.

iy where quantities are in SI units. What is the speed (in m/s) of the object at time ¢ = 2.00s?

—_—

A)13.0 B) 6.40 C) 7.58 D) 9.43 E) 142

e e 0 e S S . o

d throws a ball with an initial speed of 8.00 m/s at an angle of 40.0° above the
'[heball l;eaves her hand 1.00 m above the ground and experience negligible air
How far (in m) from where the child is standing does the ball hit the ground?

B) 3.80 C) 5.05 D) 6.39 E) 1.67
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Biathe end o .
e the end of a cable of negligible mass. The ball is rotated in a circle

making 7.00 revoluti
he ball (in m/s?)? utions every 10.0 seconds. What is the magnitude of

B)38.7 |
b S5  D)293 E) 148
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